ocean.in

HouF{idRunoff) ==
: HouF{idPair) ==
HouF (1dFsur) ==
» HouF {idLhea) ==
ouF (1dShea)
HouF{Tdtrad)—==
; HouF (1dSrad)
HouF {1dEmPTf) =
HouF (idevap) ==
HouF(idrain) ==

-n

! Runoff surface runoff from land
! Pair surface alr pressure
I shflux. ssflux surface neF heaF and salF flux
I laFenF laFenF heaF flux
: :1ble sensible heaF flux
. tongwave TadiaFion Tiux
! swrad shorFwave radiaFion flux
| EminusP E-P flux
! evaporaFion evaporaFlon raFe
rain precipiFaFion raFe

_|
_|
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IF {(Hout(idLh
5 ho*

ea,ng)) THEN
Cp

gLype= yactur r2dvar

status=nf_fwrite2d(ng, iMNLM, HIS(ng)%ncid, HIS{ng)%vid{idLhea},
HIS(ng)%Rindex, gtype,

LBi, UBL, LBj. UB], scale,

Hout{1dFsur) Write free-surface.
Hout{idUbar) Write 20 U-momentum component.
Hout{idVbar) Write 20 V-momentum component.
Hout{iduvel) Write 3D U-momentum component.
Hout{1idvvel) Write 3D V-momentum component.
Hout {1dwvel) Write W-momentum component.
Hout{idTvar) Write tracer 01: temp

Hout {idTvar) Write tracer 02: salt
Hout{idpthR) Write time-varying dephts of RHD-points.
Hout{idUair) Write surface U-wind component.
Hout{idVair) Write surface V-wind component.

Fa EEEEE

GRID{ng) % rmask,

IF (FoundError{status, nf90_neerr, _ LINE__,
_FILE_)) THEN
IF (Master) THEN
WRITE (stdout, ) TRIM(Vname( ,idLhea}), HIS(ng)%Rindex

END IF

exit_flag=

loerro atus oo . 5
 FETUR Why doesn't it output Hout(idLhea):
END IF
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